Lx 10°

Lx 10°

N1407 00791 AB2_1 D= 28.8Mpc

1000

001 F

4

II

|

|

| Ja
| o=

b o” |
#%., |
I '-,‘ |
| ) |
| %
| % |
| *|
| |
L. |

e
0

.

0.001
0.01

0.1

N1407 00791 WB2_1 D= 28.8Mpc

1 10
r (kpc)

100

1000

001 F

|}

0.001
0.01

1arcmin= 8.4 kpc ; Re= 8.9 kpc ; D25 (semi)=

Tx (keV)

1arcmin= 8.4 kpc ; Re= 8.9 kpc ; D25 (semi)=19.2 x 17.9 kpc

Tx (keV)

100

T R o I | IR} T
1 |
-
I
' I
!
| ]
) _#
I
1 | I KX @ =

4}_-11322' |

I | |
| =
| |
| |
| |
| |

aaasl |||'||I il n |I||| mi
0.01 0.1 1 10 100
r (kpc)

19.2x 17.9 kpc




